Secies Converqgence Tests
>

For series 4hat are neither 3eomc4rrc. Vo r ')LeleS'C.oPi:j i
it con be VERY hard +o )C.‘nd @ nice expression ﬁ:r
the partial sums, Sn. As a result, it is often VERY
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Pechops  Hhe Sum is 1.57 2?7 Nepe! In 1735 aftec
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From +his point onward | WeE Wont be interested in
f;ndmj exoact sums | budt c\e,c,:d:r:j whether a Series

COA\Ierje,S oc diuerJe_.S. \A)e. l’\cwe. YVIa.nJ +cs+s 5:0( -H—u'.s.'

%S.S— The Dive_rﬁenc,e_ Test

Ouc ]f;oslr bes) is based on the /[o//Owi\ﬂ] observation:
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Tf Z‘C\n has o.nB hope of ConVer:j.'nJ, the
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terms O must become small (i.e., aw—>o).

Tl'\uS, we jé’,{- -H«e, fo”owir(jj'.

The Diverjcnce Test
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Since ﬂ—amoo V\n!-i -750) Z: dverge.s éj +H.e -Ve.f(‘]CnC(. +¢S-‘

60
a Z SCC(‘%‘) = Sec(i) + SCC(—‘i) + Sec ('_3>+ ..

Lim sec (%) = sec (:% L) = see(0) =1 (#0)
00
Thus, ; sec(3) diverges by Hhe  diergence test
Ex: > _
Tn 4his case we have Lim — 1 =0, So, what

n-> 0 V\((drm)

Can wWe C_Or\clu.de ][‘t'om -H«Z.S.?

NOTHING !

Tmportant Remark :

The cllue:'jewC¢ tes+ C7:ves no information if ’éf’;’o n =0.

'T'Z.e Ser:ces C,Ould Con\/&fj& (o] c‘weyc.’
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